MONSELICEA 3

REDENTORE 6

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 2 SET PUNTI |PARTITE
XTA|X|A X A|X]A X]A|X
A |PERARO X |BERTON 11| 8 |11 7 0|3(21/33/0 1
B [SANTATO Y |INALIN 51116 |11 3/01(33/18|1 |0
DP|NEGRELLO-SANTATO |DP|BERTON-NALIN 8| 3 11| 4 9 3|12 140,48 1 0
C INEGRELLO Z MERLIN 8| 5 11|11 9 3/11/38|37|1]|0
B [SANTATO X BERTON 1111311 | 5 12 113|36(45| 0 | 1
A |PERARO Z IMERLIN 11| 5 |11 |11 11 113/30(39| 0|1
C INEGRELLO Y INALIN 619 11|11 11 2|3 (46|45| 0 | 1
B |[SANTATO Z IMERLIN 117 |11 7 0|3 17|33/ 0 |1
C INEGRELLO X |IBERTON 11]11| 8 | 11 11 2| 3|45/46| 0 | 1

A Y 00
15|21|306/344| 3 | 6




